

Algebra 1 Honors Unit 1: Linear Equations and Functions Date: \_\_\_\_\_

Topic: Systems of Linear Equations Date: \_\_\_\_\_

$2x + 3y = 12$  (Line 1)

$3x + 2y = 10$  (Line 2)

$(2x + 3y = 12)$  (Line 1)

$(3x + 2y = 10)$  (Line 2)

$(2x + 3y = 12) \cdot (-1) \rightarrow -2x - 3y = -12$

$(3x + 2y = 10) \cdot (1) \rightarrow 3x + 2y = 10$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$

$(-2x - 3y = -12)$

$(3x + 2y = 10)$